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1. Solve the initial value 'problém

2xyde + (4y +3x2)dy = 0, (1) = -2

2. Use Laplace transférm to solve the system
x" - 2x + 3y +2y=4

2y —x +3y 0
~ %(0) =x"(0) =3(0) = 0.

3. Solving X =AX + G by diagonalizing A, where

(=), (33) . (s
X_(x;),A_[H),anda_(463,j.

- - -
- 4. Calculate work done by F =1i~yj+xyz k in movmg a particle from

(0,0,0) to (1,-1,1) along the curve x = ¢ y=—tz=tfor0<r<1.

5. Find fhe phas.e angle form of the F ourier series of the function, part of where
graph is given in}the following diagram.
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